DUSS MeiBelhammer

Ersatzteilliste PK35

Ident-Nr. Benennung Bestell-Nr. Stuck
82018  Haltefeder PK35-1 1
88007  Haltefeder mit Puffer PK35-1+3 0
24000  Haltefederbolzen PK35-2 1
25001  Puffer PK35-3 2
51000  Scheibe PK35-4 1
51001  Splint PK35-5 1
88112  Klemmring mit Spannbacken PK35-6 1
88010  Klemmring, komplett montiert PK35-6K 0
24198 Einlegemutter, M10 PK35-7 1
51131 Senkkopfschraube 4x12 PK35-8 2
25039  Schraubhandgriff PK35-9 1
25084  Manschette PK35-10 1
82137  Hammerlager PK35-11 1
83422  Sechskanthiilse PK35-12 0
25103  Dampfring PK35-13 1
21026  Bohrkopfdichtung PK35-14 1
51228  Zylinderschraube M5x20, beschichtet PK35-15 4
83463  Dopperfuhrung PK35-17 1
54103  O-Ring 26x4 PK35-18 1
54110  Quadring PK35-19 1
83462  Dopper PK35-20 1
83467  Anschlagring PK35-21 1
54067  O-Ring 29,2x3 PK35-22 1
83464  Zylinder PK35-23 1
83410  Dampfscheibe PK35-24 1
54104  O-Ring 34x4 PK35-25 4
83465  Dampfring PK35-26 1
83470  Schlager PK35-27 1
83242  Kolbenring PK35-28 1
54115  Kolbenring PK35-28p 1
24059  Federring PK35-29 2
25202 Kolben PK35-30 1
83558  Kolben, komplett PK35-30k 0
24011 Kolbenbolzen PK35-31 1
25171 Pleuel PK35-32 1
25174  Oberschale PK35-33 1
51007  Linsenschraube 3,5x20 PK35-34 4
82139  Zylindergeh&use PK35-35 1
51047  Flachsenkkopfschraube 4x27 PK35-36 6
24185  Zylindergehdusedichtung PK35-37 1
82136  Getriebeplatte PK35-38 1
54000  Kupferdichtring M5 PK35-39 6
51026  Zylinderschraube M5x16 PK35-40 6
54098  V-Ring PK35-41 1
54020  O-Ring 18x2 PK35-42 1
83457  V-Ringscheibe PK35-43 1

12.01.2015



DUSS

MeiBelhammer

Ersatzteilliste PK35
Ident-Nr. Benennung Bestell-Nr. Stuck
55010 Rillenkugellager PK35-44 1
53003  Sicherungsring PK35-45 1
81226  Anker, 230V PK35-46 1
55000  Rillenkugellager PK35-47 1
82024  Lagergummi PK35-48 1
83468  Kurbel PK35-49 1
55037  Rillenkugellager PK35-50 1
83472  Kurbelrad PK35-51 1
55100  Axialscheibe PK35-52 1
55043  Zylinderlager PK35-53 1
25159  Luftleitflansch PK35-54 1
51045  Linsenkopfschraube 4x48 PK35-55 2
81103  Feldpaket, 230V PK35-56 1
25173  Motorgehduse PK35-57 1
51162  Linsenschraube 3,5x30 PK35-58 2
25175  Blende PK35-59 1
51163  Linsenschraube M4x12 PK35-60 1
27032  DUSS-Aufkleber PK35-61 2
24201  Typenschild PK35-62 1
81062  Kohlehalter PK35-63 2
22153  Kohlebdrste PK35-64 2
51046  Linsenkopfschraube 3x10 PK35-65 4
51008  Linsenkopfschraube 4x14 PK35-66 6
25160  Motordeckel PK35-67 1
52213  Kondensator, komplett PK35-68 1
25066  Dampfer-Zylindergehause PK35-69 1
25178  Schalterschutz PK35-70 1
52020  Schalter PK35-71 1
25064  Dampfer-Motorgehause PK35-72 1
25004  Kabelklemme PK35-73 1
25161 Schalterhandgriff PK35-74 1
82022  Abstandsbuchse PK35-75 4
51060 Linsenschraube 5x30 PK35-76 4
51050 Linsenkopfschraube 4x20 PK35-77 2
25009  Kabelschutzschlauch PK35-78 1
52001 Kabel mit Stecker PK35-79 1
82025  Lagergummi PK35-80 1

12.01.2015

2/2






